EARAROBEEIERT — 2 N— IBISH —F 2017812A27H (k) 21EIEME2H

m# y XIN=7 - T HYFKBREB2 Y IR3®E (xwlm [ memml - |y ) oo nE
[x&<£] 1 %:800,000 ™  23#&:192,000 3#&:96,000 ™  43#%&:64,000F ~ 53 :48,000 1
B | RE BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
1lgli1|X—F«zrE—7F 3 ;Eﬁ)%— 1:(5_5).7 33-2-2 |41.1| — | 1 | 500 Ei*ﬁﬁﬁg (l3)
QIVPKYTYRTR BE—FN—F4— )| s
2 glFrU—btU R # 3 | BER 1(7551:? 2-2-1-1 |41.4| — | 2 | 489 gﬂ@; (M)
LALTAN— R BikaHTILAR SR e
3 o | PHH =LK o7 Sué_ﬂgkﬁk 1:(526>.l 5-5-4-3 | 41.3| — 8 508 %;25&?(%?@93*/
LI TRRFTEN BT RE2—F 1 — ¢ | £ mis
4710 T FFTST—2Z 45 ;d;*g’é-i 1(:5/%3 8-8-7-6 |41.2| — 4 | 485 i%gé@m)
LTSy IEAK BTLETNREL | Fmas
507|g|F>avIKy Yy £ 6 ‘sr’é’rgéiﬂ 1(756t;1 6-6-5-4 | 41.7| — 7| 462 gﬁggﬁﬁﬂﬁ)
QXA amHaYY BiIATUMEOS > ) ez r—n
Sy = o7 | AH—E 1:56.5 9-9-9-9 |40.4| — 10 | 501 |EFIEE (Fh)
Eﬂ 4| va—=v 56.0 (3/4) (o) |EHES
A:God’s Own H:FH /N Mr G Shigemi
7lglip| 177 i 5 ;J%iﬁ 1( 75?:53 7-7-6-7 | 41.6| — 6 | 457 Eﬁg‘gﬁ;ﬁ (Gl )
LFLL Y EeE BAET R
# 7 | MAAT 1:57.0 | 12-12-9-10 [ 40.6 | — | 12 | 473 |HEEER (EH)
g|5|5|IVITIT7—2X 0 2172 #) A —IYNZ EE
RZXATLA BibIY—Ya—X e 02 1552 ks
9 7| A H =N H o3 57§U(J)E§ 1.(537).5 10-10-12-12| 41.0 | — | 9 | 474 E;g;;ﬁnﬁ)
RTA—FAFAF XYL BiTU Y- 00 | nz s
N : REEPASEE: # 3 ﬂ(%kﬂﬁ 1:(517).7 1-1-3-4 |43.4| — | 3 | 49 ﬁig@ (G:1:)
L840 BiaxkvTY ® | m g
1l b=>2TyH— H 5 *25_%@7& 1(:15/72.>8 4-4-88 [43.0| — | 5 | 48 *&mﬁg% ()
QTr—IUTL BiRF EEA 08 | g g
125/ 6| RE— KT v = # 4 | HHBE (00 RIS G0 = %&(%ﬂ:éﬂéfig
QtL/O704 BiF(%Y-5 FYIL %8 | 35
@ 1 —F—EAIE
13-~ 3,8,11,1,2,9,12,10,4,7,6,5
20—F— 3,8,11,1,2,9,12,10,4,7,6,5
83—7— [8,11,3,2,9,12,10,1,(4,5) 6,7
41—+ — 8,11,2,(3,9),10,12,1,4,5,6,7
[ 7N
B O 11 210 | [ 74 K 8-11 220 | | # & 6-8 380/ | | EHE | 2-8-11 8,500/
7 B 11 130 2-11 1,840 | | & = 8-11 380M | | 3=E 11-8-2 25,380M
8 130M 2-8 3,940 BB 1-8 6303
2 1,130M

ABICOVWTRDTEEERROODE. TR LIV,




